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LA V4

LAVS

T o o o i A | R | AR fii 5
TR LR |l TR AL L TR EL TR - =10mm wt | 246 25
AR T A7 7V N FEEE  t=40mm o 4.10 4 |A1
HEFTRA L ERE FRAERERIL T A2 (20) B2EAE t=40mm ) 25
Thb e m® | 0.0025 0.003
BERET  |[OO0EIRET T~ LA m | 060 0.6
IR T RCH AT ke | 0.6 0.16)| 520 EY
e A A BT ERTS I m? 0.30 0.3
ar7)—hEE m 0.14 0.1
a7 ) — MTRRE R m? 0.47 0.5
BRI T EEERE T (RIBES L) ORI A (210 5 ) o2 | 259.93 260
BRLsy ke | 519.86 520 |V=0.5t
AL T TR - KPR m? _ _
R 3HL m? | 259.93 260
T TR R R R B0 (e v h) o2 | 259.93 260 |13 4 B+ 100g/m?
T& FIHARI AR U R R N n? | 259.93 260 [FEELEA 2 : 200g/m2
T SRR AT A S RIIE R i 22| 259.93 260 | i1 K 1 200g/m2
i SEVAAI o F IR R i | as0.0 960 e - 140g/m2
% GIRAINE S TR BN L8 o | 259.93 260 |1 % A B - 120g/m2




Y4t LAV2 LAV3 LA V4 225 o O | P -
TS T i) ) itk S| R || B P
BB LT |hfEEE T FEAif T 5
m 8.0 8
{hfEEEE T SMYaAh(17Y) m 8.0 ®) ]
' L BRETMICED
" TR TR :
VNI TR REERMIIR RV 7 2 = 3R) o 0.004 (0.000)] |
MR 1Rk T FE~i T3
m 1.6 2
HZE s — b Var 1
\ o . “Oll mmemcan
AR Sy 2T T H LB T G— I . 04 0.0)|
=7 5 5} E/\\ s =R
B = T SE~Ji T N 6 .
AR T 2m 1
L Bl et L
Fobe
R A ¥ . A
FR R E TR
By d JEAifn T4 o’ 1.07 1
ETE L OFf AL
& I 2L 2 107 :
k&Y IR DXk m—rL ) 107 ! FEAERAR & :500g/m2
m .
% Ay KA 23 —
XY S IRA S > X B m— UL P | - 500/m2
KB ERE T FE~i T3 a7 —MEEY KR BIOR m L5 5
G0 EPDME LA m | 15 2| &7 sy — I
7 ~iE T .
&R 3 L PN S L FEA~iE T8 i 0.008 0.008)| —stc3f -
T T 1 IV e
Wi &1 T HIHEE L 2L E 0.008 0.008
For L FoyE 7RSS 1.0cm e 0.192 0.2
KRR TR
HERL m?2 0.101 0.1




LAVl

2%

2%

22

LAVS

= 7 G o g AL | MR | AR %
% T IRz T M2 friE h<1.5m m? | 120.05 120
HIE T 1 5 B m? 120.05 120
FnkBAwE (i) FHERD m? 120.05 120
SRR # T HHBHEL m? | 120.05 120
PR — RpL#E L m® | 127.25 127
TR — NIRRT HR DT . 5.1 5
T AR A T2 AR50 L IR T A —h o2 254.5 255 IR L 2mIA AR E
B85 (M0TF=—2) BV Z T m? 120.05 120
BT E T EH LR WE W il 4 4
a7V —hTaysiE [ERETays m? 0.7 0.7|V=0.1m3
A ) m’ | 0.026 0.03 |1 5 0.208¢
TAZ Vb m 0.49 0.5|7 277 /LR EH: 1,15t
M= 7Y —h o | 014 0.1|7 27— :0.329t
ALy St m® 0.026 0.03
T A7 7V m® 0.49 0.5
Hefip= 7Y —h m 0.14 0.1




L. T2 (MEZ )

£ (m) | #8552 (m) | #ifi(m?)
agam| 4.10 | 8.00 [12.300
azteem| 4.10 | 3.00 |12.300

HE A~ T & 24.600

(W)
A= 01 x 01 X 025

2. DUObIHET
DA T (O b g 20em 2 5 7E)
(DREA~ i L&
L= 0.60 m
@EAHF (AT v—)L)

OUPEm  AAEOOHIESMm)  OOhIVER(m)

W= 0.001 X 02 X

3. M B Al E1E
(LwpFeiE)
A= 1.0 x 1.0 x 0.30

(mr 7V —hFEHH)
A= 07 X 1.0 X 0.20

(F 7 — TR

A= 047

0.60 X 1100

a=0. 47m’

400

HeE(kg/m®)

X

2AH20%

1.2

0.0025 >

0.16 kg

0.30 m?

0.14 2

0.47 m?



4. AR L T

4-1 B TR

(DFAH (G1~G3)
Gl-Gz Flg(k) Al= 0.225 X 450 X 2 X 2 = 4.05 p?
" ” A2= ( 0.225 + 0.27 )X 012 X 05 X 2 2 = 0.12 2
! " A3= 0.27 X( 3.635 + 9.89 + 3635 ) X 2 = 9.27 m?
Gl-Gz Flg(F)  Ad4= (  0.17 + 030 )X 150 X 05 X 2 4 = 2.82 p?
" A5= 03 X 298 X 2 X 4 = 7.16 2
" A6= (03 + 042 )x 031 X 05 X 2 4 = 0.89 m?
! A7T= 0.42 X( 346 + 989 + 346 ) X 4 = 28.24 p?
" A8= 0.006 X 150 X 2 X 4 = 0.07 m?
” A9= 0.006 X 2985 X 2 X 4 = 0.14 p?
" A10= ( 0.006 + 0.0025 )x 0.31 X 2 X 4 = 0.02 p?
" All= 0.025 X 9.89 X 2 X 2 = 0.99 m?
Gl-G2 Web Al2= 2640 X 1.20 X 2 X 2 = 126.72 p?
Gl-Gz  stff  Al3= (  0.08 X 0.125 + 0.12 X 1.075 ) X4X4 = 2.22 p?
Ald= ( 012 X 120 )x 2 X 34 = 9.79 m?
XA = 192.50 p?
(2)xH ek
gxHE  bRM Al= 2705 X 0.25 X 2 X 2 = 2.71 p?
Fight A2= 2.705 X 0.13 X 4 X 2 = 2.81 p?
B A3= 1.24 0.13 X 4 X 2 X 2 = 2.58 m?
WRIRHERE L TM A4= 2.705 X 0.13 X 4 X 2 5 = 14.07 p?
M A= 1.24 0.13 X 4 X 2 5 = 6.45 m?
XA = 28.62 m?
(3) T A AE
Al= ( 227 X 013 X 4 X 2
+ 4.785 X 0.13 X 4 ) X g = 29.09 12
SA = 29.09 p?
DBy I L—h
S st GTHE ®O= 013 x 2 X 4 = 1.04 1p?
@= 002 x 2 X 4 = 0.16 2
@@= 006 x 2 X 2 = 0.24 p?
@= 002 X 2 X 4 = 0.16 m?
TR ®= 009 x 2 X 6 = 1.08 p?
o ] Se G 4 ®= 0.17 X 2 X 10 = 3.4 m?
@®= 002 x 2 X 10 = 0.4 p?
®= 0.07 Xx 2 X 5 = 0.7 m?
@@= 002 x 2 X 10 = 0.4 p?
SA = 7.58 m?
- BEB TSR AR ERIL G
A= 19250  +  28.62 +  29.09 + 7.58 = 257.79 p?



42 SOk , (IEm) (@m)
al1=0.032m a2=0 014m2
(m) a3=0. 033m’
A= 0.032 X 2 + 0.014 X 2 + 0.033 = 0.13 n®
AX4= 0.130 X 4 = 0.52 m?
TKY = 0.52 p?
4-3 HEAKE
&
2
Al= ( 0.1539 X 3.14 X 1.52
. 0.140 X 314 X 012 ) X - 1.62 m?
EET AR+ SR+ HEKE
A= 257.79 + 0.52 + 1.62 = 259.93 2
BIEEbR S T GHIBES T9%)
DHE it T i
A= 259.93 m?
@By (FRE)
e T i (m®) Im*2Y4 72 AEE ALy & (kg/m”)
A= 259.93 X 1.0 X 2 = 519.86 kg



5. fffE e E T (X2 )

FIEA i LA A= 40 X 2 = 8.0 m?
& B & I Bify w2 % =
BiEEETL SMYaA U hM(IE) RER m 8.000 L=4.000+4. 000=8. 000

) L=4.0x (0.027x0.0225) +
AR H BHEERUIZCSIUR) m 0.004
4.0 (0.0175 x 0. 023)=0. 004

XBRBES S UAEY—XET. ZEMBEICEELS,

6. MU K L (X2 )

FE~it T A= 04 X 4 = 1.6 m?
& A Tt % B HE e
HmEBER Y —ILH YyYya—vik (47 4.0 | 0.05x0.05x0.40x4x1000=4.0
Ny o7y TH YLAVIF—L | W 2.4 | 0.05%0.03x%0.40x4x1000=2. 4

KTSAT—EHMBERI—ILHIZEFTI D,
7. BhHEMIE T

HE~ i T A= 263 X 2 = 52.6 m?
2mH
N= 13 X 2 = 26 f&
-t AR
N= 2 X 2 = 4 K

7-2 SRR

A= 0.11 X g X 050 X 1.07 n?

o
I

8. KGNV E L. (X if 2 )
L= 075 + 0.75 = 1.5 m



9. HEENXNVEIHT

10. {R3% T
10-1  FY RS HrEh<1.5m)

A= 480 X 25.01
10-2 HfEA

A= 480 X 25.01
10-3 > —hERG# T

A= 480 X 25.01
104 FRIES—MER# T

A= 480 X 26.51
10-5 AR Y

A= 170 X 0.75
10-6 BRI RIBES TR A3 0 L

(EER)

EEELZLBET

=

(FER)

BEELZIEEL

[ (BIRFEEILZIL)

a=0. 096m’
FYEVYI 1em

T

w

ol

O
To

315

i

(BIEEILZ L) \

SIS

~ 530

X

2P (BT B

A:
Fo T

A= 0.096 X
A JEETRIARE T

A= ( 0530 X

+ 0.315 X 2 X

A= 1273 X 2

2

FyEYY Ilem

0.04 Xx( 0.096 + 0.096 )

2 X 0.03

X 4.00

(A mE =)

th

BEELZLEELT

(BAVEEILZ L) \

S|
2 =

- 315

X
Do
1l

FyEYST Ilem

0.008

0.192 p?

0.101 12

120.05 2

120.05 2

120.05 p?

127.3 2

5.10 1p?

254.5 p?



1. fEiE T

11-1

11-2

11-3

A7) —h7ay 7k

A= 070 X 1.00

TOE

36
o Il @
o {[loo
® s
ket L —NEE22m
A= 0.16 X 0.022 + 0.043 X 0.036 X 2
AX4= 0.0066 X 4 —ATEPT

S - AR (A B B =T 85t /m”)
A= 0.026 X 7.850

T A7 7V Nl
A= 410 x 3.00 X 0.040

T AT 7V NEEE BB (AT 7V BAIRRE E §=2.35t/m3)
A= 0.490 X 2.350

arvry—r7ays
A= 070 X 1.00 X 0.20
av7)—h-Ea (37U —b HEALRFEEE=2.35t/m3)
A= 0.140 X 2.350

AL TT

ket 71— EE22m

A= 0.16 X 0.022 + 0.043 X 0.036 X 2
AX4= 0.0066 X 4 —AfEPT
T AT 7V N

A= 410 X 3.00 X 0.04
A7) —=hTays
A= 0.70 X 1.00 X 0.20

0.70 p?

0.0066 m?
0.026

0.208 t

0.49

1.152 t

0.14 p?

0.329 t

0.0066 m?
0.026

0.49 1’

0.14 3



